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En = (n+ 1
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〈u7|x5|u1〉 @A��

〈u6|x7|u13〉 @B

〈u13|x9|u4〉 @C

〈u8|x3|u11〉 @�
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H = eα(σ1+iσ2) + eα(σ1−iσ2)
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2(1 + α), 2(1 − α) @A��

(1 + α), (1 − α) @B

eα − e−α, eα + e−α @C

2 sinα, eiα + e−iα @�
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2 sinωt @A��
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2 cosωt @B
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2eiωt @C
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4 (sinωt+ cosωt) @�
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1,1) @C

|s = 2,ms = 0〉 = 1
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2
(χ(1)
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E1 0 ε

0 E1 δ

ε δ E2
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�� ���#& �� ���K��V$ Ly % Lx % �	�P ���$���> A 3�/� H = A
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Z^��� Z� %� Y� ��Q& �� 3�/� !2� % �	�P ���$���> B 3I"1 �$ ���% �� H1 = BLx/�
2 Z� ^��� (10�� �789$
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L±Yl,m = �

√
l(l + 1) −m(m± 1))Yl,m±1

σ1 =
(

0 1
1 0

)
, σ2 =

(
0 −i
i 0

)
, σ3 =

(
1 0
0 −1

)

H = �ω(
1
2

+A†A)

x =

√
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2mω
(A† +A)
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